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But perhaps it has a Moorshoh - 7o POR R IRADYT

Overview

The X nx explained that according to X117 27 (who only requires a w"> 17) there is no
concern of carrying from a n°>n73 to a >"'77, since "“» M52 NYan 72900 PR.2 The X3
then asked, 7% n°X Rwn [Rm] 81971, There is a dispute between >"w1 and '01n how
to read and explain this question.
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The n''9 explained the s'X7n3 question; perhaps there is a mound on the ground
(underneath the water) which is adjacent to the ship, meaning that the ground

there is high, so there is no 2’ndw " from the ground level to the top of the water -
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And if he will take out the water in a vessel through that place, it will be less than

ten 01oY above the seabed, since the ground rises there (and it is a n>o»13).
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However, 3"w9 who explains Xw712 to mean the (high) prow of the ship, the

language of '8%»>>7Y', which is in all the texts, is not appropriate -
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So according to >"w", the X®9%4 is ‘but it has a RwW=’ (not, ‘perhaps there is a xw1n’)

Summary
If X1 means a mound, the X0 is X7, if it means a prow, the R0 is K.

Thinking it over
What are the relative advantages of *"w='0 and 1" w°8?

! The X073 in our X723 texts is Rw 8 (instead of Xw 1w 8»9»7). See in this 'O,

2 See previous 3 1"7 'O,

3 See the 1" who writes, X?2mW 2197 ,1°2°201 ,XWT1R RI772 KA™P 72900 X7 X127 WY 257 NOYRIR2 WOW 7700 10 Xm0
Q°115Y " O NOW TV 0°71 NOYPIPN 12 PR own. So perhaps Xwn should be translated as a crevice.

4 When the water is 2'n9u "> deep (or more) the top of the water is a 715 0p», but if there is a Xw N, so the water is
not 2°1dv " deep, the top of the water is a n°9»1> and he is carrying from the n°7»73 to a *"7 (the ship).

5 See Xm 7"'7 >"wA, who explains that since the prow of the ship rises high above the water, therefore it can (sometimes)
be in water which is not 2°n9v », and if he draws the water by the w11, he will be X*¥1 from a n°7»73 to a >"an.

¢ It is not appropriate to ask, ‘but perhaps the ship has a Xw"’, since generally ships have a Xw . Therefore the
question must read; ‘but it has a Rww’.
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